Dot Product Formula



Dot Product Formula

U - U = |ul| |U] cos @













Law of Cosines:



Law of Cosines:

02=a2+b2



Law of Cosines:

c? = a? —I—b2 — 2abcos 6



Sl






c? = a® - b? — 2ab cos 0



(0,0)

c? = a® - b? — 2ab cos 0
(x — w)? + (y — 2)? = a® + b* — 2abcos O



(0,0)

c? = a® —I—b2 — 2abcos 0
(x — w)? + (y — 2)* = |@]* + b* — 2abcos b



(0,0)

c? = a + b? — 2ab cos 0
(x — w)? + (y — 2)? = |@|* + |F]* — 2abcos b



(0,0)

(z —w)? + (y — 2)* = |@|* + |5]° — 2| |5] cos 6



(0,0)

$2—2azw—|—fw2—|—y2—2yz—|—z2
— |&|? + |¥])? — 2|d@| |T]| cos O



(0,0)

:132—2:13w—l—w2—|—y2—2yz—|—z2
— |&|? + |7])? — 2|d@]| |T]| cos



(0,0)

—2a3w—|—w2—|— —2yz—|—z2
= + |5|? — 2| |¥] cos O



(0,0)

—2:13w—|—fw2—|— —2yz—|—z2
= + |F|? — 2|]| |¥] cos O



— 2xw + - — 2yz +
= + — 2|u| |U] cos



(W,2)

rw + yz = |u| |U]| cos O






